- . t
Marke Piaggio MO er
Modell RUNNER
Ausfuhrun FL
g
o 4 1N C\VAURNIA A DNAL /0040)
Lbl\lllllullu A NI VVITTN I /ATNTVI \UU_I‘\J}
&
1
7 8
Le |
I
2
Verzeichn |Artikelnummer Beschreibung
iss
01 271807 PIAGGIO BOLZEN M10 x 205 SW-17 SUBRAHMEN
02 599286 HILFSRAHMEN PIAGGIO RUNNER C14-C36 ORG
03 10310 SELBSTSICHERNDE MUTTER M10 ZINK 50st
04 563977 PIAGGIO SW17 C14-C15 BOLZEN M10x245
05 10316 UNTERLEGSCHEIBE M10 ZINK 100st
06 10310 SELBSTSICHERNDE MUTTER M10 ZINK 50st
07 267550 PIAGGIO C25-C30 HILFSRAHMENGUMMI
08 267589 PIAGGIO C25-C30 HILFSRAHMENGUMMI




